millions

100,000s

10,000s

1000s

100s

1s In order from smallest to largest

2

5

10,000

4

3

2

10s

4

.. -
2,043,241

2,764,406 2,870,540
Stop and look.

1

two miillion, five hundred and forty-three thousand, two hundred and forty-one

2 millions, 5 hundred thousands, 4 ten thousands, 3 thousands, 2 hundreds, 4 tens and 1 one

-10 «——— 0 — 5 10
negative

positive

5 or more - round up
4 or less - round down
Round to the nearest million .

2/643,278 —> 3,000,000

v

2,000,000 3,000,000

A prime number
has exactly 2
factors:
2,3,5,7,11, 13,
17,19..

10

13 15 | 16 | 17 | 18 | 19 | 20

23 25 | 26 | 27 | 28 | 29 | 30

33 35 | 36

46

37 | 38 | 39 | 40

43 45 47 | 48 | 49 | B0

53 55 | 56 | 57 | 58 | 59 | 60

15 and 21 have the
common factors
1and 3

63 65 | 66 | 67 | 68 | 69 | 70

73 75 | 76 78 | 79 | 80

83 85 | 86 | 87 | 88 | 89 | 90

93 95 | 96 | 97 | 98 | 99 | 100

15 and 21 are
common muttiples
of 3

oS et
S‘:\u, “?:\, If I know...
Aavt? then I also know...

because...

08x7=8x7=10

Multiplying and dividing by 10, 100 and 1000 42%x5=42+2 56,000 = 80 = 700
M |HTh | TTh| Th 1005/ 10s | 1s l 1% 1%0 10%0
q r 3 1 24
- Tentimes— o 136 X 10 2427 o[ o2
<\greater/ 3 6 é— move]digits one place left X v 9 g' ﬁo
136 x 1000 q.1
i 316 010 é_ movg digits 3 places left 5596 ) 4_| 3'3'3q 3060 0 2 e
’ 10 240
< Ten times 3 136 - 10 h 3
smaller —+> | 1 ¢ 3 | 6 [moveldigits one place right 3339 + 24 =139 r3 = 1395;
136 + 100 e = 13913 ( to 2dp)
> 0 T 1 V§0V2 digits 2 places right Year 6 Term 1 é }"’3“
)éA y5A )éA
4 4 4
(-4,8) X% 8 x—(4,8) 3 Translate the triangle 8
2 2 and 2
1 1 1
54-3-2-10 12 3 4 5 X 543/ 1234 5y 54-3-2-10 1 2 3 4 5 X
-2 -2 -2
(—4,-8) % -3 X~ (4,-3) ¢ -3
-4 -4 -4
-5 -5 -5
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more
than 1

Slmp|lfY 14 ComPare % and %have the 5 Order 2
% < % common denominator 12 " r6 than A Iessihan 1
ore tha U3 7
3 3 less than 1
7 and 14 have th 2 < 9
7 and B have the 756 OO 13
= g <2 8
7 _1 HERERREN 112 5
14 — 2 The larger the denominator
\;;71 the smaller the equal parts. so % > % because :I% > 1%
g
075=23 75% 5
056= % 50% 2
033.=1 3333.% °
02 - % 20% 1
01=4% 10% 8
S0 03=30% = %
The sum of the angles at a The sum of the angles at a Vertically opposite angles
point on a straight line is 180° point is 360 are equal

The sum of the angles in a
% triangle is 180°

www buzzardpublishing com

The sum of the angles in a
quadrilateral is 360

Licensed to and for the exclusive use for School organisation_St Joseph's Catholic Primary School

Parts of circle
mferen(,‘e
&<

2
6\0‘(\6 /‘qq,.
Us

. Order of Operations
1%
more 6-2+4=8 Only addition and subtraction -
than 17 complete the calculation from left
to right
= 7) =12 Only multiplication and division -
g Ae complete the calculation from left to
right
— Complete multiplication before
6+4x2=14 addition or subtraction
(6+4)x2=20 Complete the calculations in
brackets first
6+4+2=20 Cadlculate indices before other
operations
If I know...

then I also know...
because...

Year 6 Term 2

at least 2 lines of

duadrilaterals symmetry

curved no curved
surface surface
prism
not a
prism

www candomathsclub.co.uk



I can'’t describe
the sum!.

I can't describe the
part that is left!.

Find a common

denominator.

4 . 3 _
127127 12 I can add fractions
SO 1 1 7 with the same
= = = denominator .
3 4
g mi 54,11
Adding mixed numbers. 2 gt 1z
Add the whole numbers.

Add the fractions by finding a common denominator.

-2 Ol

~ 8

ol L

Il

w
|

-+
0[N

I
w
ve]ONI

www buzzardpublishingcom

Find a common
denominator.

v,

I can subtract
fractions with the
same denominator .

Subtract the whole numbers.

1 ~1_1
297°%8
1.1 _1 1 .o _1
2*X4 °8 LEerEg
1 2 -2
35 =16
1.,2_2 2 2
3% %515 5 v3=4%

\
\

1
8

1
4

Subtract the fraction by finding a common denominator.
1_2

_q1_2
DN - 14

8
N 7
8
Or on a number line.
1 1
"5 "8 1
Ve r\/\
| | | |
7 L 25
& 1 18 28
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M |HTh | TTh| Th 1005|105 | 1s + i5 | %0 |55
<Ten times ~\ 11316
greater .~ 3|6
1136|010
<Ten times
smane_r/) 1¢3]6
im =100 cm 1km = 1000 m

136 x 100 = 1360
so 136m = 1360cm

1cm = 10 mm
136 x 10 =136
so 136cm = 136mm

136 x 1000 = 13600

S0 136km = 13,600m

When converting from a larger unit
to a smdller unit, multiply because

there will be more of them.

136
move digits 1 place left

136
move digits 3 places left

136
move digits 1 place right

136
move digits 2 places right

11 = 1000 ml
13600 = 1000 = 136

Converting units by

multiplying and dividing by
10, 100 and 1000

so 13,600ml = 13 6litres

1kg =1000g¢

so 1360g = 1.36kg

3 green for every 2 yellow

Q0000

1360 - 1000 =136

Area of a parallelogram
= base x perpendicular height

—_—_————=

Yolume of a cuboid = length X width x height

10cm

Area of a triangle
= 1 x base x perpendicular height

5cm

V=12x5x%x4
=12x%x20
= 240cm?®

VN=4x4x%x4
=16x4

= 64cm?

4cm

00000

0 160 240 Q0000
| | L | | o | | |
75 reen ellow total
0 10 % 50 100 £ Y
3 2 5
6 4 10
q 6 15
Colin and Coco share £60
5% 20% Coco gets 3 x more than Colin.
0% 40 10% Colin
2
100% Coco }EGO
solpart=60+4 =15
50% 1% So Colin gets £15
5% 26 and Coco gets £15 x 3 =£456
Scadle factor 3
% X3 12cm
4cm
6cm
2cm
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a+a=2a Ifa=3
axa= a2 20=2%X3=6
a2=3x3=¢9
a+b=6 Ifa=0thenb
a=1 b
a=2 b
a=3 b
a=4 b
a=>5t b
a=6 b
B | | L [
Number of squa_res L]
vV OV vV o
+4 +4 +4

ic Primary School

...............

Buying a mug costs £8 for
the mug plus £4 per colour.
How much would it cost to
get a mug with 3 colours?

£8+4x3=€20

}6 000000
000000
4 000000
3 000000
2 000000
1 000000
0o 000000

...............

The next term in
the linear sequence is
9+ 4 =13
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